
Heart Age Algorithms

Where 
TOT = Total  Cholesterol (mg/dl)
HDL = HDL Cholesterol (mg/dl?)
DIAB = 1 if  prevalent diabetes, 0 otherwise 
SMK = 1 if  smoking in previous year, 0 otherwise 
SBP = Systolic Blood Pressure (mmHg)
“Ln” = natural logarithm

FULL ALGORITHM  (TC, HDL-C & SBP known)

→ Calculate 10-year CVD Risk :

Men on Antihypertensive Rx: 

Men not on Antihypertensive Rx:

Women on Antihypertensive Rx: 

Women not on Antihypertensive Rx: 

→ Calculate Heart Age :

     Men < 60 years:

Men >= 60 years:

Women < 60 years:
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Women >= 60 years:
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ALTERNATIVE ALGORITHM #1 (TC & HDL-C known, SBP unknown)

→ Calculate 10-year CVD Risk:

Men: 

Women: 

→ Calculate Heart Age:

Men: 

Women: 
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ALTERNATIVE ALGORITHM #2 (TC, SBP, BMI known, HDL unknown)

→ Calculate 10-year CVD Risk:

Men on Antihypertensive Rx: 

Men not on Antihypertensive Rx:

Women on Antihypertensive Rx: 

Women not on Antihypertensive Rx: 

→ Calculate Heart Age:

Men <60 years:

Men >= 60 years: 

Women < 60 years: 

Women >= 60 years: 

note. In 2013 the reference value for TC was increased to 200 to increase the sensitivity
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ALTERNATIVE ALGORITHM #3 (TC, BMI known, HDL & SBP unknown)

→ Calculate 10-year CVD Risk:

Men: 

Women: 

→ Calculate Heart Age:

Men: 

Women: 
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ALTERNATIVE ALGORITHM #4 (SBP & BMI known, TC & HDL cholesterol unknown)

→ Calculate 10-year CVD Risk:

Men on Antihypertensive Rx: 

Men not on Antihypertensive Rx:

Women on Antihypertensive Rx: 

Women not on Antihypertensive Rx: 

→ Calculate Heart Age:
Men < 60 years of age: 

Men >= 60 years of age: 

Women < 60 years of age: 

Women >= 60 years of age: 
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ALTERNATIVE ALGORITHM #5 (BMI known, SBP, TC & HDL cholesterol unknown)

→ Calculate 10-year CVD Risk:

Men:

Women:

→ Calculate Heart Age:
Men: 

Women: 
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